AT AFME AL G REssmmmesmsasT s 7

CHoiel ARl &7|Mule A7, 22| ¥ FAIZZIGF0 SAetHAM Al DaAMR HME ~83|

F0] YH 20| siaolch oo wet HSTE0| BREUAL MOF S8 J718E £F - AET|9| A

Z0f M2 ZwALD, EEANI| HY R0 02 42 9 HH #e S0 39 ¥2 EHEE =8A710 Uk
TAFE HAL Ui ANSY/IEEE, EC, VDE S 2+ =7 X Bhofl ufet Cha Xjoj7} 9lm me~ AHMS

H & MEO| 22y TRRRE Mol Hldol= A = x

T UZE ofych UEAF AL Z2NE 012E BF €22 S JIF0) 7|EsiAt Btk

[ARA1]
O SINGLE LINE DIAGRAM
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O IMPEDANCE CONVERSION(BASE : 100MVA)

FROM TO |IMPEDANCE DATA CALCULATION CONVERSION DATA
KEPCO 0.101+j1.641
100,000 % (0.2529+j0.3103) 1,000
01 02 0.2529+j0.3103 X 0.107+j0.131
10 x 154° 1,000
100
02 03 0.3667+j11 (03667 x j11) x 0.917+j275
100,000 x (0.0372+30.092) 10
03 04 0.0372-+j0.092 x 0.0307+j0.076
10 11¢ 1,000
100,000 % (0,0372+30.092) 10
03 05 0.0372+j0.092 b8 0.0307+j0.076
1012 1,000
100,000 % (0.07444+30,184) 600
03 06 0.0744+70.184 x 3.69+j9.12
10x11° 1,000
100
05 07 05+i9 (0.5+9) x 25+j45
(0.234+j0.146) % 100,000 100
07 08 0.234+j0.146 X 5.37+i3.35
10%6.6° 1,000
GEN 9%xd” 1 9(X/R : 45) (0.2+59) x 0.667+j30
B 100
M %xd” : 17(X/R : 30) (057+i17%1.5) % 22 2+]665
0.9x087
, 100
SM %xd” : 20(X/R : 30) (0.67+j20) x 12.7+j382
41
0.9%0.87
O Impedance Map
e -

}
0.101+i1.641 §

0.107+10.131 G 3 0.667+j30

0917+27.3 0.0307+10.076

0.0307+10.
25+i45

A

35 37+13 35

IM 22.2+j665

S Y

20 M=Eac 98410

076 3.69+i9.12

12.7+5382

pm—————



O Impedance Map (Bus A Fault)

KEPCO
0.101+71,641 & 0.0307+0.076 3 3.69-+j9.12 - 0,0307+j0.076
0.107--i0,131 25+45 12.7+1382 0.667-j30
0917+j27.5 5.37+j3.35

22.2+665
% Fault
KEPCO ™M SM G

1.125-+j29.272 23014713426 F16.39+;391.12 20.6977+j30.076

1 Fault

I Epu I 100 x 100,000
se sym = —— Ibase =
y Zpu j14.012 NE O]

O IAAFH

= 375[kA]

X/R 1 14.012/0414 = 338

Multiplying Factor : 1.04
Interrupting Fault Current Is = Isc symXMF = 37.5X1.04 = 39[kA]
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= X = 174[kA
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100 100,000
X = (0.7lkA
713426 8 x11 [iea]
100 100,000
Ismy = = 13[kA]

X
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©

0414+j14.012

Fault
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[l 2]
O SINGLE LINE DIAGRAM

O Impedance FA} 2 HE (Base : 2000kVA)

KEPCO 500MVA(X/R : 10) AP A5 A 500MVA
2000
%Zs = ———— X 100 = 0.4[%]
500 X 1000
CNCV  100md . %7 .
1.5km %Rs = TH—X——W)——? = 0.0398[ %]
%Xs = 10X0.0%08 = 0.398[ %]
e o
o/; 7 69 oz = 2000 X (0.2305 + jO.l)502)><1.5
10 X 22¢
= 01319 + j0.0859[ %]
0 ¥l
X/R 8% 8z Ao
R = 6/8 = 075

%Zr = 075 + j6{%]

O Impedance Map (Base : 2000kVA)

Zs @ 0.0398+j0.393 0.9217+]6.4839
Zr : 0.1319+j0.0859 o Fault
Zt 1 0.75+i6
Fault
o 1AAF
100 2000

X = 464[kA
0.9217+}6.4839 ¥3 X038 [ka]
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